Federal Board SSC-I (201.6)
MATHEMATICS S5C-I
SECTION — A (Marks 15}

Time aliowed: "’l."." miinutes Earks: 1

NOTE - Section-A is fﬂ-lﬂpul'ﬁﬂrjr Al F'.‘rri:. of this section are tc
b2 answered on the guesticn paper itself. It shouwld be compielad
in the first 20 mimutes and banded over o the Cenrre
Superiniendent. Deleting/overwriting is not allow=2d. Do not use
lead penci

—— —— — e

Q1. Circie the correct option i.e. ABIC/D.
Each part carries one mark.

(i) If.-tig /=0, thenx =72

(A) e (B) -6

(C) S (D) -9
{if) (4)*3 with radica! sign is:

(A) v 43 (B A a?

(G AT (=)
{(iii). YsiFf log.v = x then:

(A) a*=y (B) a=x

. B) =¥ (D) »y'=x

(iv) The degree of the polynomial x*v?® +

Bxv 4+ ¥ iSicasarases

VA) 2 (B) 3

{(C) 1 o) 4

{(w) Fad m so that x> +4x+m is 2
compiela sguare...

(A) = (B) —H
(G z (D) -4
(viy H.CF.of ¥ —Sx+6andx® —x — 6is...... ~
(AN o — 3 1=} x 4+ 2
(C) x — 2 (D) x + 3
(wit) L.C.™M. of a® + b and a* — b* is ......
(A a* + b* (B) a* - b*
(C 3t — bt (D) a—>b
(wiii} EF x is oo lzrger than 10, then......
() ¥y > i0 (B xr = 19
{(C) x > 10 (I x < 10
iz} Point {3, -3} lies in the guadrant :
A) i (B) i1
() 1l D) EW
1) sMid-point of the points (2,-2) and (-2, 2} s
(A (2, 2) (B) (-2, -2)
(C) (0, O) {I» (1. 1)

(k1] TRE ..ccv.vuesme. aifitudes of an iroscales
triaagie are congruent.
(A0 Laie (B) ithreo
(C) four (D) none of these

(xii) Distance between the points {—1,3j
and (3,-2) is:

(A W41 (B) —+41

(<) 41 (D) 41
(xiii) {:* | is called matrix

(&) Uit (B) Scalar

(C) £ero (D) Singular
(xiv) Tf i* = —1 theni ="

() 1 (B) &

() 4+ 1 (D) v—1

(xv) I: nwo medians of a triangle are
{*ﬂ'ngruent then triangle wiil be:
(A) sosceles (B) right angled
(C) Ea:qa.lilateral (D) acute angled

MATHEMATICS SSC-1

Time aliowed. 2:40 Hours Total Marks Sections B and C: 60
NOTE:- Atternpt any twelve parts from Section 'B' and any three
questions trom Scction '"C on the separalely provided answer
book. Use suppicmentary answer sheet i.e. Sneet-B if required.

Write your anmswers neatly and legibly. Log Table and Graph
Paper will be provided 1o you on demand.

SECTION — B (MarkS 36)

Q.2 Attempt any TWELVE parts. All parts

carry Equal marks. {12 x 3 = 386)
) 3 2 4
(i) et [ *1] * - {3 —5]
then venf:.r that (4AB)' = B'A"
- 3x — 2y = —06
(ii) Solve by using Cramer's rule Gy <2y —=—10
_ £ 2
(iif)  Simplify S el L
' (0.04)7F

(iw) f Z=2 + 3i and W = 5 — 4i show that
ZW =7 W

(v) Find the vaiue of 'x' if logesx =

(vi) Use log table to find the value of — =2

(vii) If 5x— 6y =13 and :;_p = 6 then find the
value of IEw.:r:' - 21&}

(wiii) Simplity ---:_;__ e
g ELTTE S T W Ll .
(ix) Factorize 25¢" —10x + 1 — 362°
(x) For what value of m i1s the polynomal
pix) = 4x% - 7x° + 6x — 3m exactly divisible
by x + 2

(xi) Express the decimal 0.23 in the form of E ,

where p,g « zandg = 0

(xii) Find the L.CM of a(ax*—1),6(x* —x* —x+ 1)
by factciization e ;

. xe v xs—w x - —

{Iiii) Simphify !_-‘E“_';E' e TZ Ayl ] ol [ L I""‘i

(xiv) Using division method find the square root
of 9x* — 6x* + 7Tx* - 2x+ 1 -

(xv) Solve each equation and check for
extranecus soiution, if anyy/2 — ¢ = V2t — 28

(xwi) Solve for x I3 + 2x] = |j6x— 7|

(xvii) Solve 3{2x + 1) — 2(2x +5) < 5(3x — 2)

(xwiii) Soive the eqguations graphically x = 3y and
Zx — 3y = —6

SECTION - C (Marks 24)
Note: Attempt any THREE questions. Al
- qguestions carry equal marks.(3 « 8 = 24)

Q.= Show tnatl the points A{-6,-5) B{(5,-5).C(5,-8)
and [M-G - are wvertices of a rectangle
Find the h—*—r*gt-"ls of 1is diagonals. Are they
-F::‘}LIEL

2.5 f two angles of tnangle are unequal in

measure, the side copposite to the greater
angle s longer than the side opposite to the
smialler angie
2.0 If tvo angles of a triangle are congrusani
then the sides opposiie to them are also
congruant.

QLo The oiseciors of the angles of the triannis
are concurrent
Q.7 Consiruct APQR, Draw their aititudes and

show that they are concurrent
PG = 4. 5emomOR =3.9cm.m < K — 457




